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BES-127 : ASSESSMENT FOR LEARNING 
O 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 

Explain the concept of 'Formative evaluation'. 
How Formative evaluation is different from 
Summative evaluation ? Explain with examples. 

OR 

What 	are 	Norm-referenced 	and 
Criterion-referenced evaluation ? Differentiate 
between the two with suitable examples. 

2. Answer the following question in about 
600 words. 

Define Reliability and Validity. Explain the 
factors that affect validity of a test. 

OR 

What is a rating scale ? Explain the numerical 
and graphic rating scales use as a tool of 
assessment with examples. Also discuss the 
limitations of rating scales. 
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3. 	Write short notes on any four of the following in 
about 150 words each : 

(a) Types of e-portfolios 

(b) Concept of 'Assessment for Learning' 

(c) Differentiate between teacher made and 
standardised test 

(d) Question bank 

(e) Differentiate between achievement and 
diagnostic test 

(f) Functions of continuous and comprehensive 
evaluation 

	

4. 	Answer the following question in about 
600 words. 

Calculate 'Mean of the following distribution by 
'Assumed Mean' method and explain the steps 
of calculation. 

Class 
60 - 64 55 -59 50 -54 45 - 49 40 -44 35 - 39 

Interval 

Frequencies 	5 	9 	15 	8 	7 	6 
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